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	Reason for change:
	In the A2 event definition, the term ‘becomes worse than’ is used. This will create some ambiguity when it comes to measurement reporting from the UE for A2 event. 

Consider the scenario wherein the NR SpCell configures the UE with a measID associated to A2 event towards an SCell. The event A2 refers to a scenario of serving cell becoming worse than a threshold. In this scenario, if the UE is not in the coverage area of the serving cell on the frequency for which the event A2 is configured, then the UE might not have any L3 filtered measurement to compare against the A2-threshold. In such a scenario, the UE might not trigger the measurement report.


	
	

	Summary of change:
	
It is clarified that the UE shall use the lowest value range of the measurement quantity to compare against the A2-threshold when the L3 filtered measurements are not available for the serving cell associated to A2-event. 


Impact analysis
Impacted 5G architecture options:
(NG) EN-DC, NE-DC, NR SA

Impacted functionality:
RRM measurements

Inter-operability:
If the network is implemented according to the CR and the UE is not, the UE behaviour remains unclear when an A2 event is configured and there is no serving cell measurement for the corresponding serving cell MO.

If the UE is implemented according to the CR and the network is not, there will not be inter-operability problems.


	
	

	Consequences if not approved:
	The UE behaviour remains unclear when there is no serving cell measurement and an A2 event is configured for the corresponding serving cell MO.
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[bookmark: _Toc12718096][bookmark: _Toc12718100]***** Start of first change *****
[bookmark: _Toc20425810]5.5.4.3	Event A2 (Serving becomes worse than threshold)
The UE shall:
1>	consider the entering condition for this event to be satisfied when condition A2-1, as specified below, is fulfilled;
1>	consider the leaving condition for this event to be satisfied when condition A2-2, as specified below, is fulfilled;
1>	for this measurement, consider the serving cell indicated by the measObjectNR associated to this event.
NOTE: If the L3 filtered measurements for the serving cell indicated by the measObjectNR associated to this event is not available, then the UE shall consider the lowest value of the value range of the measurement quantity as the serving cell measurement, Ms.
Inequality A2-1 (Entering condition)
Ms + Hys < Thresh
Inequality A2-2 (Leaving condition)
Ms – Hys > Thresh
The variables in the formula are defined as follows:
Ms is the measurement result of the serving cell, not taking into account any offsets.
Hys is the hysteresis parameter for this event (i.e. hysteresis as defined within reportConfigNR for this event).
Thresh is the threshold parameter for this event (i.e. a2-Threshold as defined within reportConfigNR for this event).
Ms is expressed in dBm in case of RSRP, or in dB in case of RSRQ and RS-SINR.
Hys is expressed in dB.
Thresh is expressed in the same unit as Ms.

***** End of first change *****
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